| dE/dx estimator 1 |

0.3

0.25

0.2

0.15

0.1

Entries 40339
Mean 2.996
Std Dev 0.9159

Eﬁtries . .39117
Mean 2.997

Std Dev 0.916

=
S

1 2 3 45 6 7 8 9 10

dE/dx, harm?2

Ratio
=
TIrTT I L I.'_I’_I_

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

0.3

0.05

..................

: Std Dev

Entries
Mean

40339
2.806
0.9108

Entries

ee..io.| Mean

39117
2.804

Std Dev

0.9092

D
I_IIIIIIIII|IIII|IIII|IIII|IIII|II

......

0.95

P

N S

=
2

1 2 3 45 6 7 8

9 10

dE/dx, trunc40

=—=— DQM_original_1000evt

—*— DQM_fitted4_1000evt

0.08 | S T D 7|_std Dev 5.009

007 f1- S S S :.[Entries 39117

008 i

0.05
0.04
0.03
0.02
0.0

I'1'l'|'1'l'l'1'l'l'1'I'I"l'l'l'1'l"1'l'l'1' Lk

i-lllli

....................................................................

eSS FUooY

i | Mean 8.653

i | Mean 8.73

i | std Dev 5.028

Ratio

i

0.95%
0

10 20 30 40 50 60 70 80

dE/dx number of measurements

i i ean
O

. |_Std Dev

CTTaTeS

i | Mean

0.6:_ ...... ........ ........ ........ ........ Std Dev

| Entries

e

O

Ratio

0.95/

0 10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


